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A 1:
P TS18?
(i) 0.5 3{4dT 0.05 (i) 0.7 3yadr0.5 (iii) 7 3@ 0.7
(iv) 1.37 3fYdT 1.49 (v)  2.033{yar2.30 (vi) 0.8 3{ydr0.88
I 1:
(i) 0.5 > 0.05 (i) 0.7>05 (i) 7>0.7
(iv) 1.37 < 1.49 (v) 2.03<230 (vi) 0.8<0.88
A3 2:
YT BT IUAN HRd gU FHEIRed &1 T8 & U T ad B
(i) 799 (i) 7FW@7HQ
(i) 77FW@7799 (iv) 5009
) 235 U9
g, I 2:
% 100 T =31
19 -z L
100

M 7%=z =2007
100
(ii) 73@73@[:§7+§%:i7+i0.07:?7.07
(iii) 773@77&@:%774%:177&0.77:%77.77
(iv) 50 =32 =3 0.50

100
(v) 23509=% 235 _z235
100

A3 3:
(i) 5 cm &I m Ud km T & Hifod|
(ii) 35 mm &I cm, m U4 km & e Hifor|

g 3R 3:
(i) 5 cm &I m Ud km ¥ &ad HIfoQ|
100cm=1m
lcm= L m
100

= Epms-o. =0.05m
100
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3d,
1000 m =1 km
1
" 1000

~  005m=2% -0.00005km
1000

1m

(ii) 35 mm @I cm, m Ud km & o0& iU
: 10 mm=1cm

1
Imm=— cm

10
=> 35mm= % =3.5cm
3Hd, 100cm=1m
lcm= L m
100
s  B5mm=lC =0,035m
100
g,
o 1000 m =1 km
Im= L
1000
0,035

= 0.035m=—— =0.000035 km
1000

M3 4:
ﬁ'ﬂ%ﬁ@ﬁﬁkg T o PIfoIC:

(i) 200 g (i) 3470g (iii) 4kg8g
.3 4:

1000 g=1kg

= lg= s kg

1000

(i) 200g= (ZOOX '

1000

] kg=0.2 kg

|
1000

(i) 3470g= (3470x J kg = 3.470 kg

1
000

(iii) 4kg8g=4kg+ [Sx1 ] kg =4 kg + 0.008 kg = 4.008 kg
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fafeied gemed el & faxaid ©u § fefee:
(i) 20.03 Gi)  2.03 (i)  200.03 (iv) 2.034
f.IW5:
@  20.03= 2x10+0x1+0x— +3x——
10 100
(i)  2.03= 2x1+0x—+3x—
10100

(iii)  200.03 = 2x100+0x]0+0x1+0x%+3x~L

100
(Iv] 2084 = 2140+ 35l
10 100 1000

A3 6:
Fufafad e dwemsit # 2 &1 'y 7 fofau:

() 2.56 (i) 2137 (iii)  10.25

(iv) 9.42 (v) 63.352
#. 3N 6:

(i) IR 256 T 2 FTRMA AR =2x1=2 TF
(ii) B 21.37 H 2 HIRHA AR =2 x 10 = 2 <83

(i) @ 10.25 B 2 B RGO = 2x$ = 2 g

(v)  ©@9.42 % 2 BT R OF = 2xﬁ = 2 T

1

= 2 ge il
1000

v) &A1 63.352 F 2 1 RYFG A = 2x

A7

fE==1 I A T RIT B G 7071 3R 987 ¥ RIF C T 77| A¥ B H1 gl 7.5 km B 3IR BH C &l
T 127 km 81 TS R A ¥ D d% 747 3R 961 § a8 RIF C HI T AF D &1 gt 9.3 km
TARD Y C P g 11.8 km B | f5em Samer g8 o &t 1R g g fopat oifras ot

A B

D - S

LIWT:
AU B TS OH H, [ gRITI g3t = 7.5 km
B C TP o H, e griag gt = 12.7 km
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7.5 km
A B
127 km

9.3

km

C
D 11.8km

felogRIaa$a gt =AB+BC

=7.5+12.7 =202 km
U,
Y gRITA P gl = AD + DC
=9.3+11.8=21.1km

=1 T Mg GRT 4 gRAl Bt gl & i,
21.1 km > 20.2 km

3{c:, 3MgE 4 21.1 - 20.2 = 0.9 km = 900 m Gl 31fee 7 i |

A3 8:
TAT A 5 kg 300 g I 3R 3 kg 250 g 39 WIS | TAT A 4 kg 800 g Telk 3R 4 kg 150 g Hd

WS | fra 31fie et wiie?

#.3WS:
AT §RT WRIG T¢ dl &1 $d HR = 5 kg 300 g + 3kg 250 g =8kg 550 g
WWE@WWWWW:4kg800g+4l{g150g:8kg950g

JANM PR, 8kg550g<8kg950g
3fct:, TR A 3fF Bt Wil |

A2 9:

28 km, 42.6 km ¥ fbd1 & &2

f.3u%9:
Tgl, gH TEal 42.6 km 3R 28 km & g BT 3idR Ut BT B
3R = 42.6 - 28.0 = 14.6 km
3fck:, AT 28 km T 42.6 km ¥ 14.6 km SA B
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